DELHI PUBLIC SCHOOL, BHILAI

Date : 05.03.2024 ANNUAL EXAMINATION 2023-24 Time : 3 Hrs.
Class : VIii Subject : English Max. Marks : 80

General instructions:
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A.l

Read the instructions carefully before answering the questions.
Attempt all the questions in each section before going to the next section.
All the answers must be correctly numbered and written neatly.

For multiple choice questions, option numbers must be clearly specified, along with the answers.

The paper consists of four sections:
Section — A : Reading (16 Marks)
Section — B : Writing (18 Marks)
Section — C : Grammar (16 Marks)
Section — D : Literature (30 marks)

SECTION - A : READING (16 Marks)

Read the following passage carefully and answer the questions that follow :
The Rise Of Artificial Intelligence

@®

In the world of technology, Artificial Intelligence (AI) is becoming increasingly prevalent. Al
refers to machines or computers that can perform tasks that typically require human
intelligence. From voice assistance like Siri to self-driving cars, Al is transforming our daily
lives by simplifying tasks and enhancing efficiency.

One key aspect of Al is machine learning, where computers learn from data and improve their
performance over time. For example, when you use a music streaming service, Al algorithms
not only analyse your preferences but also adapt based on your feedback, continuously refining
their suggestions. This iterative learning process allows Al to provide more personalized and
accurate recommendations.

Al is not only about tasks but also about problem- solving. Computers equipped with Al can
analyse complex problems, such as medical diagnosis or weather predictions, more efficiently
than ever before. This ability has the potential to revolutionise various industries and improve

the quality of our lives by accelerating breakthroughs in science medicine and environmental
studies.

While Al brings many benefits, there are also concerns. Some worry about job displacement as
machines take over certain tasks. However, experts emphasise the importance of humans
working alongside Al to enhance productivity and innovation. They suggest that instead of
replacing jobs Al can create new opportunities and demand for skills that complement machine
capabilities, fostering a collaborative relationship between humans and technology.

Ethical considerations also play a crucial role in development of AL. As machines become more
intelligent, questions arise about privacy, bias in algorithms, and the impact on society. Striking
a balance between technological advancement and ethical standard is essential to ensure that Al
benefits humanity as a whole. Transparent and accountable practices in Al development are vital
to address ethical concerns and build trust among users.

In conclusion, Artificial Intelligence is a powerful force, shaping our future. Understanding its
capabilities and potential challenges is crucial as we navigate the evolving landscape of
technology. With responsible development and thoughtful integration, Al has the potential to
revolutionise how we live and work, offering solutions to complex problems and opening new
frontiers of possibility while upholding ethical standards for the greater good.

(a) What is Artificial Intelligence ? (D)
(b) What is the primary role of Al in our daily lives ? (1)
(c) How does machine learning contribute to Al ? (1)
(d) — industry has been potentially revolutionised by Al (1)
(i) Agriculture (i1) Entertainment (iii) Medicine  (iv) Construction
(¢) What solution is proposed for concerns about job displacement due to AI? @))]
(f) The AT algorithms improve their performance overtime by ()
(1) analysing user feedback (ii) following predefined rules
(iii) connecting to the Internet (iv) running complex calculations
(2) What are some ethical concerns in Al development ? (D
(h) What is crucial for addressing ethical concerns in AT development? (1)
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SECTION - D : LITERATURE (30 Marks)

Read the given extracts and answer the questions that follow :
1. How can the bird that is born for joy,

Sit in a cage and sing.
How can a child when fears annoy.
But droop his tender wing,
And forget his youthful spring.
(a) According to the lines, the emotion experienced by the child is
(1) joy (ii) fear (iii) boredom (iv) excitement
(b) The confinement has made the bird and the child
(1) become more joyful (i1) forget their youthful spring
(iii) lose their ability to sing (iv) droop and lose their natural vitality
(c) The name of the poem is

(1) A School Boy (1) The School Boy (i1i) School Boy  (iv) School Boys

2. Says the ant to the cricket, “I'm your servant and friend,
But we ants never borrow; we ants never lend.
But tell me dear cricket, did you lay nothing by
When the weather was warm?”” Quoth the cricket, “Not I 1”
(a) Why does the ant say the above lines?
(b) What rules do ants follow?
(c) Give the meaning of the word ‘quoth’.

3. Today at Kalicharan’s, Bepin Babu had the feeling that someone was observing him from
close quarters. He turned round and found himself looking at a round faced, meek looking
man who now broke into a smile.

(a) Why had Bepin Babu gone to Kalicharan’s ?
(b) Who was looking at him?
(c) Where had the man met Bepin Babu?

(3X3=9)
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Answer any three of the following questions in about 30 to 40 words each : (2x3=6)

(a) What are the two ways in which the hills appear to change when the mist comes up?
(b) How did Jody bring the fawn home?

(c) What looks like a fashion display on the slopes of Landour ?

(d) What is ‘the poetry of the earth’ made of 7 -

Answer any one of the follewing questions in about 75 words :
What was it about Mount Everest that the author found irresistible ?

OR
The writer expresses his great gratitude to Stephen Hawking. What is the gratitude for?

®)

Answer any three of the following questions in about 30 to 40 words each : (2x3=6)

(a) Why did Lear go mad ?

(b) How did Helena betray her friend ?

(c) What did the Prince of Arragon offer to do for Claudio ?
(d) What did Titania and Oberon quarrel about?

Answer any one of the following questions in about 75 words:
Draw a character sketch of Mark Antony.

OR
Draw a character sketch of Brutus.
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DELHI PUBLIC SCHOOL, BHILAI

Date : 01.03.2024 Annual Examination 2023-24 Time : 3 Hrs.
Class : VI Subject : Mathematics Max. Marks : 80

General Instructions :

This Question Paper has 5 Sections : A to E.

Section A has 20 MCQs carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 questions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each.

Section E has 3 Case based integrated units of assessment (4 marks each) with Sub-parts of the values of 1, 1
and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of 3 marks

and 2 questions of 2 marks has been provided. An internal choice has been provided in the 2 marks questions
of Section E.

Section — A

01. When a die is thrown, the probability of getting a prime number is
(a) 2 (b) 1/3 (c) 2/3 (d) None of these
02. If we add ab — bc, bc — ca, ca — ab then the answer is:
(a)2 (b)0 (01 (d) 2ab+2bc+2ca
03. Volume of a cylinder with base radius r and height h is
(a) 2rh (b) 2nr2h  (c) mrh (d) 3mr?h
04. 372x37° isequalto
(a) 377 (b)373 T (d) 37
05. If xandy are direct proportional, then which of the following is correct ?
(a) x + y = constant (b) x — y = constant (c) xy = constant (d) ; = constant

06. The factorization of 7x — 42 is
(@) 7(x — 6) (b) 7x(x — 6) (¢} 7{x ~35) (d) None of these

07. The following table gives the quantity of petrol and its cost ;
/

No. of Litres 10 15 | 20 25
Cost of petrol in (Rs.) 500 750 1000 1250

What is the cost of 20 litres petrol :
(a) 500 (b) 750 (c) 1000 (d) 1250

08. If we multiply xy,yx,zx we get:
(a) 2xyz (b) x2y?z? (c) xy?%z? (d) x?y?z

09.  10°+ 100° 4+ 1000° is
(a) 1110 (b) 1000000 ()3 (d) None of these

10. If xandy areininverse proportion suchthat x; = 100, y, =20, x = 125, theny, is
(a) 50 (b) 80 (c) 32 (d) 16

11.  The factors of 49p? — 36 are:
(a) (7p —6)(7p +6) (b) (7p — 6)? (c) (7p + 6)* (d) None of these

Contd...2
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The above graph describes the distance travelled by a car at different times. Study the graph. How far
did the car go in the first hour:

(a) 150 km (b) 200 km (¢) 50 km (d) 100 km
13.  The volume of cuboid with length, breadth and height as 5a,3a? and 7a* respectively is :
(a) 1054’ (b) 105a? (c) 105a* (d) 100a’
14. 31860000000 in standard form is:
(a) 3186 x 10*° (b) 3.186 x 10'° (c) 31.86 x 10%° (d) None of these
15. When two coins are tossed, then what is the probability for getting tails on both the coins ?
(a) 2 (b) % (c) 173 (d) 2/3
16. A train is moving at a uniform speed of 75 km/hr. How far will it travel in 20 minutes :
(a) 20 km (b) 30 km (c) 25 km (d) 35 km
17.  The common factor of x*y> and xy? is
(@) x*y* (b) x3y* (©) x%y () xy?
18. A graph displays data that changes continuously over periods of time :
(a) Linear graph (b) Bar-graph (c) Histograph (d) Picto-graph

For Question NO. 19 and 20, 2 statement of Assertion (A) is followed by a statement of Reason (R). Choose the correct
answer out of the following choices :-

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation for Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct and Reason (R) is not the correct explanation for Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : 15 books weights 6 kg. 6 books weighs 2.5 kg.
Reason (R) : A direct proportion shows the direct relation between two quantities.

720. Assertion (A) : The area of a triangle with base b and altitude h is % XbXh.

Reason (R) : The area of a triangle is defined as the total space occupied by the three sides of a triangle
in a 2 — dimensional plane.

Section — B
21. If you have a spinning wheel with 3 green sectors, 1 blue sector and 1 red sector. What is the probability
of getting a green sector.

2. Add: [24+m? m?+n? n2 + 12, 2lm + 2mn + 2nl
OR
Subtract : 4a — 7ab + 3b + 12 from 12a —9ab + 5b—3

Contd...3
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30.

31.
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34.

35.
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Simplify and express the result in power notation with positive exponent :
(3~7 +3719) %x3°

Factorise : p?+ 6p + 8
OR
Find the factors of : y% — 7y + 12

Find the value of m for which 5™ + 573 = 5°

Section - C
Simplify 3x(4x —5) + 3 and find its value o fx=3.

A closed cylindrical tank of radius 7 m and height 3 m is made from a sheet of metal. How much sheet
of metal is required ?

OR
Find the height of a cylinder whose radius is 7 cm and the total surface area is 968 cm? .

Bvatuate : {(2) - (3)*1}"1

A school has 8 periods a day each of 45 minutes duration. How long would each period be, if the school
has 9 periods a day, assuming the number of school hours to be the same ?

OR
Suppose 2 kg of sugar contains 9x10° cystals. How many sugar crystals are there in 5 kg of sugar ?

Factorise : a* — b*

Draw the graph for the following table :
Distance travelled by a car

[ Time (in hr) 6 am 7 am 8 am [ 9 am
Distances (inkm) | 40 80 120 160

(i) How much distance did the car cover during the period 7.30 am to 8 am ?
(ii) What was the time when the car had covered a distance of 100 km since its start.

Section—D

Simply : (i) (x+y)(x*—xy+y?)
(i) (a+b+c)a+b—c)

Water is pouring into a cuboidal reservoir at the rate of 60 litres per minute. If the volume of Teservoir is
108 m’, find the number of hours it will take to fill the reservoir.

OR
A road roller takes 750 complete revolutions to move once over to level a road. Find the area of the road
if the diameter of a road roller is 84 cm and length is 1 m.

Two persons could fit new windows in a house in 3 days.
(i) One of the person fell ill before the work started. How long would the job take now ?
(ii) How many persons would be needed to fit the windows in one day ?

Divide the given expression as directed :
@) (2+7y+10)+ (¥ +5)
Gi) (5p®>—25p+20)+(p—1)
OR
Factorise the expressions :
(i) S5y*—20y—8z+2yz
(i) 10ab + 4a +5b +2

Contd...4
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Adjoining pie chart gives the expenditure in percentage on various items and savings of a family during
a month.

(i) On which item, the expenditure was maximum?
(a) Savings (b) Clothes (c) Food (d) Others
(ii) Expenditure on which item is equal to the total savings of the family
(a) Transport (b) Education (c) Others (d) House rent
(iii) If the monthly savings of the family is Rs 3000 what is the monthly expenditure on clothes?
(a) Rs 2000 (b) Rs 4000 (c) Rs 6000 (d) 8000
OR

If cost of total monthly expenditure is Rs 2,00,000, what is the monthly expenditure on Food ?
(a) Rs 50000 (b) Rs 60000 (c) Rs 40000 (d) Rs 20000

The villagers planned to construct a community place to hold Panchayat Samiti’s meeting in the village.
The place should have 14 cylindrical pillars. Each pillar has base of radius 50 cm and height 10 m. Floor
and roof are cuboids having dimensions 10 m x 10 m x 25 cm . The contractor said that the rate of

construction of roof and floor is Rs 60 per m? and the rate of painting is Rs 20 per m’.

(i) The volume of the roof and the floor is :

(2) 2500 m’ (b) 2500 cm’ (¢) 25 m’ (d) 50 m®
(ii) The total lateral surface area of all the pillars which need to be paintis :
(a) 2207 m’ (b) 44000 m” (c) 440 m’ (d) 4407 m*
(iii) The cost of painting all the 14 pillars :
(a) Rs 628.57 (b) Rs 8,80,000 (c) Rs 8800 (d)Rs 1257.14
OR
The cost of constructing the floor and roof is
(a) Rs 1500 (b) Rs 3000 (c) Rs 5000 (d) Rs 10,000
The following graph shows the temperature forecast and the actual temperature for each day of a week.
----- Forecast e Actual
35 E
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(i) On which days was the forecast temperature the same as the actual temperature

(a) Monday, Tuesday, Wednesday (b) Tuesday, Friday and Sunday
(c) Wednesday, Friday and Saturday (d) None of these
(ii) What was the maximum forecast temperature during the week ?
(a) 40° ¢ (b)) 35°c (c)) 20°¢c (d))30°c
(iii) What was the minimum actual temperature during the week ?
(a)) 20°c (b)) 15°¢ (©))25%¢ (d))30°c¢
OR
On which day did the actual temperature differ the most from the forecast temperature ?
(a) Friday (b) Sunday (c) Thursday (d) Monday
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DELHI PUBLIC SCHOOL, BHILAI

Date : 28.02.2024 ANNUAL EXAMINATION 2023-24 Time : 3 Hrs.
Class : Vil Subject : Science Max. Marks : 80

General instruction:
(1) This question paper consists of 39 questions in 5 sections.
(ii) All questions are compulsory. However, an internal choice is provided in some questions. A student is

expected to attempt only one of these questions.

(iif) Section A contains 20 objective type questions carrying 1 mark each. Students have to write correct option

and answer both.

(iv) Section B contains 6 Very Short questions carrying 02 marks each. Answers to these questions should be in

the range of 30 to 50 words.

(v) Section C contains 7 Short Answer type questions carrying 03 marks each. Answers to these questions

should be in the range of 50 to 80 words.

(vi) Section D contains 3 Long Answer type questions carrying 05 marks each. Answer to these questions

should be in the range of 80 to 120 words.

(vii) Section E contains 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

01.

02.

03.

04.

0s.

06.

07.

08.

09.

SECTION A

When oil or petrol catches fire, water is not used to extinguish it because

(a) Water covers oil and oil burns under water layer which may not be noticeable

(b) Water is heavier than oil or petrol and so remains below the oil layer which continues to burn

(c) Water get mixed with oil and increases fire

(d) Water gets evaporated (1)

Which of the following fuel has the highest calorific value:
(a) cow dung cake (b) Wood (c) coal (d) Petrol (1)

Two boys A and B are applying force on a block. If the block moves towards the boy A, which one of the
following statements is correct?

(a) Magnitude of force applied by A is greater than that of B.

(b) Magnitude of force applied by A is smaller than that of B.

(c) Net force on the block is towards B. @))
(d) Magnitude of force applied by A is equal to that of B.

Substance X is applied between the moving parts of machine. A thin layer is formed there and moving
surfaces do not directly rub against each other. Y or irregularities is avoided to a great extent. The

substance which reduce friction are called Z. Identify X, Y & Z. - (D
X Y Z
(a) Water Lubricants Drag
(b) Oil Interlocking Lubricants
(c) Sand | Roughness Lubricants
(d) | Powder Smoothness Drag

We are not crushed under the weight of air because:

(a) air has no weight

(b) the pressure inside our bodies is equal to atmospheric pressure

(c) the pressure inside our bodies is more than atmospheric pressure

(d) none of these (1)

A boy rolls a rubber ball on a wooden surface. The ball travels a short distance before coming to rest. To
make the same ball travel longer distance before coming to rest, he may

(a) spread a carpet on the wooden surface. (b) cover the ball with a piece of cloth.

(c) sprinkle talcum powder on the wooden surface. (d) sprinkle sand on the wooden surface. (1)

Production of thyroxine requires
(a) Magnesium (b) Iodine (¢) Sodium (d) Bromine (1)

Which of the following statements is true?

(a) Boys reach puberty at an earlier age than girls.

(b) Girls reach puberty earlier than boys.

(c) At the end of rapid growth, girls are normally heavier than boys.

(d) Between the age of 4 to 12 years, girls grow faster than boys. )

The ultrasound equipment works at frequencies:
(a) higher than 20,000 Hz (b) lower than 20,000 Hz (c) lessthan20 Hz  (d) none of these (1)

Contd...2
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You cannot talk to each other on the moon because
(a) atmosphere is not present, that is, there is vacuum
(b) you would not feel like talking

(c) compressions and rarefactions can only travel on earth’s surface
(d) gravity is 1/6th that on the earth (1

Which of the following is not used for electroplating metal articles?
(a) Nickel (b) Silver (¢) Chromium (d) Sodium (1)

When electrodes are immersed in water and electricity passed, the bubbles formed on the positive terminal
is actually gas.

(a) Hydrogen (b) Carbon dioxide (c) Oxygen (d) Nitrogen (1)
An object 20 cm high is placed at a distance of 100 cm from a plane mirror. The size of the image will be.
(a) 20m (b) 40cm (¢) 0.2m (d) 100mm ¢))
Image formed by a plain mirror is

(a) Real, inverted and diminished. (c) Virtual erect and magnified

(b) Real inverted and magnified (d) Virtual erect and same size. (1)
A major earthquake occurred on 26™ January 2001 in which part of India?

(a) Uri (Kashmir) (b) Bhuj (Gujrat) (c) Surat (Gujrat)  (d) Jabalpur (Madhya Pradesh) (1)
Consider the list of items given below:

(i) Tsunami (ii) Landslide (iii) Floods (iv) Lightning

Earthquakes can cause

(a) (i), (i1) & (iv) (b) (ii) & (iv) (c) (@), (i) & (iiD) (d) (iii) & (iv) 1)

Q 17 to 20 are assertion and reasoning questions. Following are the options-

(a) Assertion (A) and Reason (R) both are true, and Reason (R) is the correct explanation of Assertion (A).
(b) Assertion (A) and Reason (R) both are true, but Reason (R) is not the correct explanation of Assertion(A).
(c) Assertion is true but Reason is false.

(d) Assertion is false but Reason is true.

17.

18.

19.

20.

21.
22
.7, 1

24.
25.

26.

Assertion (A) : Sharp knife cuts better than blunt knife.
Reason (R) : Pressure is directly proportional to area of contact.

Assertion (A) : A meteor generally burns in the atmosphere after entering it.
Reason (R) : frictional force is responsible for it.

Assertion (A) : Lightning is caused by the accumulation of charges in clouds.
Reason (R) : The process of meeting of negative and positive charges to release huge amount of energy is
called electric discharge.

Assertion (A) : Metal ions must be present in a solution used for electroplating a particular metal.
Reason (R) : Electroplating occurs only on anode.

SECTION-B
Kerosene oil while burning gives flames on the other hand charcoal does not produce flames; explain. (2)
Differentiate between oviparous and viviparous animals? 2)

Name the mode of reproduction in the following organism. Define them. )

What do you mean by menarche and menopause? (2)

A man weight 600N and his is standing on his feet whose area is 0.012m?. Find the pressure exerted by

the man on the ground. 2)

Instead of taking the trouble of electroplating metals with chromium for making car parts, taps, cycle

parts, etc. why are these objects not made of chromium itself? 2)
OR

Do distilled water conduct electricity? What will happen if we add sugar to it and then salt to it? Explain.

Contd...3
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SECTION C

27.  Inthe given figure identify A, B and C. Write one function of each. (3)

OR
Explain the process of reproduction in hydra. Draw necessary diagram.

28.  Ramesh first try to push the box but he is not able to push it. After that Vijay joined him then the box
moves over the floor. Vijay had a brilliant idea he put a pipe below the box and then tried to push the box.
He finds that the box moves very swiftly. The three cases which type of friction plays the role. Explain it.

; 3)
29. (a) What are the harmful effects of noise pollution on human body?

(b) Explain three methods to reduce noise pollution. 3)
30.  When electric current is passed through the conducting solution what are the changes that can be

observed? 3)

31. (a) What are seismic or fault zone? Name some fault zone in India.

(b) What is Richter scale? What is the value of highly destructive earthquake on the Richter scale? 3)
32.  Draw aray diagram to show formation of image by a plane mirror. What is lateral inversion? 3)
33.  Whatis an ideal fuel? Write four characteristics of an ideal fuel. 3)

SECTION D

34, (a) What is menstruation? Explain.

(b) Explain how sex of a child is determined in humans? Also draw necessary diagram. (5)

OR
(i) What are secondary sexual characters?
(ii) Name the glands which produces the following hormones.
(a) Thyroxin (b) Insulin (c) Adrenalin

(iif) Draw a diagram showing Position of endocrine glands in the human body
35. (a) Differentiate between gravitational and electrostatic force. (3 points)

(b) Why do some people suffer from nose bleeding at high altitudes? ()

OR
(i) Differentiate between contact and non-contact forces. (2 points)
(i) When some force is applied on an object, what are the effects of the force that can be observed on the
object?

36.  Label the given ray diagram A, B, C, D & E and define A, B, C,D&E. (5)

surface

OR
(a) Differentiate between regular and diffused reflection. (2 points)

(b) Write the characteristic of image formed by a plane mirror.

Contd...4
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Section E

A violin and a flute may both be played at the same time in an orchestra. Both sounds
travel through the same medium, that is, air and arrive at our ear at the same time.
Both sounds travel at the same speed irrespective of the source. But the sounds we
receive are different. This is due to the different characteristics associated with the
sound. Pitch is one of the characteristics. How the brain interprets the frequency of an
emitted sound is called its pitch. The faster the vibration of the source, the higher is
the frequency and the higher is the pitch. The magnitude of maximum disturbance in the medium on either
side of the mean value is called the amplitude of the wave. It is usually represented by the letter (A).

The loudness or softness of a sound is determined basically by its amplitude. The amplitude of the sound
wave depends upon the force with which an object is made to vibrate.

The sound which is more pleasant is said to be of a rich quality. A sound of single frequency is called a
tone. The sound which is produced due to a mixture of several frequencies is called a note and is pleasant
to listen to. Noise is unpleasant to the ear! Music is pleasant to hear and is of rich quality.

(a) Name the vibrating part in violin and a flute. (1)
(b) A roar of a lion is louder or a sound of a bird? (D

(¢) Loudness of sound is measured in which unit? When will be the loudness of sound becomes physically
painful?

2)
OR
(c) What is the difference between a tone and a note?
If we cut off the engine of a moving car it comes to rest after covering some
distance. According to Newton’s law, motion can only be destroyed by an \\\
external force. It means that some external force is there which opposes the \ \\
motion of the car. This force which come into play is called friction. All bodies ’\\\\ N Sy

4 B = ;
when observed through a powerful microscope appear to be rough, i.e. they are ' \
found to have projection and depressions on the surface. When one body is placed &\\\\\\ \\

over the surface of another, their irregularities gets interlocked with each other.

Projection of one fit into the depressions of the other. To start relative motion between them we have to
overcome these interlocking. This opposition motion of one surface over the other is called friction.
(a) If we have three things glass, handkerchief and sand paper, one which surface the friction will be

minimum? (1)
(¢) When the car is moving on the road with constant speed and the engine is ON, what happen to the
friction because the car do not stop? )
(¢) Explain two examples where friction is a foe. 2)
OR

(¢) Explain two examples where friction is a friend.

An earthquake — also called a quake, tremor, or temblor — is the shaking of

the surface of Earth resulting from a sudden release of energy in the '!-'—M"’T;:T
lithosphere that creates seismic waves. Earthquakes can range in intensity, |1' —
from those that are so weak that they cannot be felt, to those violent enough lg,_.... L e
to propel objects and people into the air, damage critical infrastructure, and | | i

wreak destruction across entire cities. The seismic activity of an area is the L i
frequency, type, and size of earthquakes experienced over a particular time. The il o (e ) s
seismicity at a particular location in the Earth is the average rate of seismic B - & |
energy release per unit volume. The word tremor is also used for non- Il ‘{T i

earthquake seismic rumbling. At the Earth's surface, earthquakes manifest ,/"'f_if P /3
themselves by shaking and displacing or disrupting the ground. When the o ———
epicentre of a large earthquake is located offshore, the seabed may be displaced
sufficiently to cause a tsunami. Earthquakes can also trigger landslides.

Different devices are used to measure intensity of earthquake one such is shown in figure.

We can take some precautions when we are outside or when we are inside out home.

Based on above extract answer the following questions;

(a) The tremors produce waves on the surface of the earth. Which device is used to record these waves? (1)

(b) Richter scale is used to measure intensity of earthquake. Is it a linear or non-linear scale? (1)
(c) Suppose earthquake is there in your area and you are at your home, write any two precaution you take
to protect yourself and your family members. 2)
OR

(c) Suppose you are out of your house and the earthquake is there, write any two precaution you will take
to protect yourself.
(BCECE T



DELHI PUBLIC SCHOOL, BHILAI

Date : 20.02.2024 ANNUAL EXAMINATION 2023-24 Time : 3 Hrs.
Class : VI Subject : Social Science Max. Marks : 80

General Instructions :
(1) This question paper comprises six sections — A, B, C, D, E and F. There are 38 questions in the Question
Paper. All questions are compulsory.
e Section : A — Questions (1 — 20) are of 1 mark each.
e Section : B — Question Nos. 21 to 26 are very short answer type questions, carrying 2 marks each.
e Section : C — Question Nos. 27 to 31 are short answer type questions carrying 3 marks each.
e Section : D — Question Nos. 32 to 34 are Long Answer type questions carrying 5 marks each.
e Section : E — Question No. 35 to 36 are Case Based Questions with 3 Sub Questions and are of 4 marks each.
e Section : F — Question No. 37 and 38 are Map Based Questions, carrying 5 marks each.
(2) Internal choices have been provided in few questions. Only one of the choices in such questions have to be

attempted.
Section : A (Multiple Choice Questions)

Q.01 Which of the following Indian states lost its territories to the British in 1856 due to the Subsidiary Alliance
System? (1)
(a) Jhansi (b) Jaitpur (c) Sambalpur (d) Awadh

Q.02 Who established ‘Santiniketan’, an institute for creative learning near Calcutta in 19017 §))
(a) Mahatma Gandhi (b) Sri Aurobindo Ghose
(c) Rabindranath Tagore (d) William Carey

Q.03 Who quoted that “a single shelf of a good European Library was worth the whole native literature of India
and Arabia”? (1)
(a) William Jones (b) Henry Colebrooke (c) Nathaniel Halhed  (d) Thomas Babington Macaulay

Q.04 In which year was the ritual of Sati banned by the British? 1)
(a) 1875 (b) 1829 (c) 1856 (d) 1858

Q.05 Which movement was organized in India against the partition of Bengal in 1905? (1)
(a) Rowlatt Satyagraha (b) Quit India Movement
(c) Khilafat agitation (d) Swadeshi Movement

Q.06 When did Mahatma Gandhi come back to India after his long stay in South Africa? 1)
(@) 1915 (b) 1905 (c) 1924 (d) 1890

Q.07 Assertion (A) : Some sepoys of Meerut regiment refused to do the army drill with the new cartridges.
Reason (R) : The cartridges were suspected of being coated with the fat of cows and dogs. 1)

Q.08

Q.09

Q.10

Q.11

Q.12

Q.13

(a) Assertion (A) and Reason (R) both are true, and Reason (R) is the correct explanation of Assertion (A).
(b) Assertion (A) and Reason (R) both are true, but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

Which Fundamental Right will be violated, if a 13 year old child is employed in a factory manufacturing

carpets? (1)
(a) Right to Equality (b) Right to Life  (c) Right to Freedom  (d) Right against Exploitation
State True/False 1)

Article 21 of the constitution on the Right to life includes the Right to food.

Which of the following countries riots broke out when the responsibility of water supply was handed over

to private companies? (1)
(a) Bolivia (b) Barbados (c) Belgium (d) Bahrain

Which of the following articles has abolished untouchability? 1)
(a) Article 15 (b) Article 16 (c) Article 17 (d) Article 18

The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act was framed in . ()
(a) 1988 (b) 1989 (c) 1979 (d) 1999

Assertion (A) : Many foreign companies set up their plants in poorer countries like India.

Reason (R) : In poorer countries For lower pay, companies can get longer hours of work. Additional
expenses such as for housing facilities for workers are also fewer. (1)

(a) Assertion (A) and Reason (R) both are true, and Reason (R) is the correct explanation of Assertion (A).

(b) Assertion (A) and Reason (R) both are true, but Reason (R) is not the correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.
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Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21
Q.22

Q.23

Q.24
Q.25
Q.26

Q.27
Q.28

Q.29

Q.30
Q.31

Q.32

Q.33

Q.34

Golden fibre refers to ’ 1)
(a) Cotton (b) Tea (c) Jute (d) Sugarcane :
Which of the following crops require high temperature, light rainfall and two hundred and ten frost-free
days and bright sunshine for its growth? (1)
(a) Wheat (b) Maize (c) Coffee (d) Cotton

Where was the first successful mechanized textile mill established in India in 18547 1)
(a) Kolkata (b) Mumbai (c) Agra (d) Bhopal

Which one of the following regions is a major hub of Information Technology industry in India? 1)
(a) Bangalore region  (b) Hugli region (c) Baroda region (d) Meerut region

Which are three main factors that cause population change? (1)
(a) Births, deaths and marriage (b) Births, deaths and migration

(c) Births, deaths and life expectancy (d) Births, deaths and adoptions

State True/False 1

Education and health help in making people a valuable resource.

Assertion (A) : People always prefer to live on plains rather than mountains and plateaus.

Reason (R) : Plains are suitable for farming. (1)
(a) Assertion (A) and Reason (R) both are true, and Reason (R) is the correct explanation of Assertion (A).
(b) Assertion (A) and Reason (R) both are true, but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

Section : B (Very Short Answer Type Questions)

What was the demand of Rani Lakshmibai of Jhansi that was refused by the British? )
Who was Ishwarchandra Vidyasagar? (Any two points) 2)
What is Secularism? 2)
What is Integrated Judicial System? )
What is Commercial Farming? 2)
What is Population Composition? (2)
Section : C (Short Answer Type Questions)
What were the different reasons people had for not sending girls to school? 3
Why did Mahatma Gandhi want to teach children handicrafts? (Any three points) 3)

OR
What was Tagore’s view about the Western/English education? (Any three views)

Why was Jamshedpur (Sakchi) chosen to set up the first Iron and Steel Company in India?

(Any three reasons) 3

Write any three principles of sustainable development. 3

What is the structure of Courts in India? 3)
OR

Write any three functions of the Judiciary.

Section : D (Long Answer Type Questions)

What economic impact did the First World War have on India? (An‘y 5 points) 5
OR
(a) Why were the people dissatisfied with British rule in the 1870s and 1880s? 3)
(b) How was the politics of the Radicals within the congress different from that of the Moderates? )
Write any two sources that cause Air Pollution. What are the steps being taken to reduce environment
pollution? (Any three steps) (2+3)
OR
What is law enforcement? Why is law enforcement so important? (2+3)
What is shifting cultivation? Write any three disadvantages of shifting cultivation? (2+3)
OR
What is agriculture? Mention the geographical conditions required for the growth of the two major food
crops - Rice and Wheat? (1+2+2)
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Q.35

Q.36

Q.37

Q.38
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Section : E (Case Based Study Questions)

Read the source give below and answer the questions that follow :

The March to Dandi

Purana Swaraj would never come on its own. It had to be fought for. In 1930, Gandhiji declared that he
would lead a march to break the salt law. According to this law, the state had a monopoly on the
manufacture and sale ‘of salt. Mahatma Gandhi along with other Nationalists reasoned that it was sinful to
tax salt since it is such an essential item of our food. The Salt March related the general desire of freedom
to a specific grievance shared by everybody, and thus did not divide the rich and the poor.

Gandhiji and his followers marched for over 240 miles from Sabarmati to the coastal town of Dandi where

they broke the government law by gathering natural salt found on the seashore, and boiling sea water to
produce salt.

(i) What was the last destination of the Salt March, where Mahatma Gandhi broke the Salt Law? )
(if) What was the Salt Law? (1)
(iii) How did Gandhiji break the government salt law? 2)

Read the source give below and answer the questions that follow :

Recognising that Muslims in India were lagging behind in terms of various development indicators, the
government set up a high-level committee in 2005 chaired by Justice Rajinder Sachar, the committee
examined the social, economic and educational status of the Muslim Community in India. The report
discusses in detail the marginalization of this community. It suggests that on a range of social, economic
and educational indicators the situation of the Muslim Community is comparable to that of other
marginalized communities like Scheduled Castes and Scheduled Tribes. For example, according to the
Report the average years of schooling for Muslim Children between the ages of 7-16 is much lower than
that of other socio-religious communities.

(i) Whose marginalization has been discussed in the above report? 1)
(if) Who chaired the committee that was formed in 2005 to examine the socio-economic condition of
Muslims in India? (1)
(iif) Name the two other marginalized communities of India that are mentioned in the Sachar Report
excluding Muslims. 2)

Section : F (Map Based Questions)

On the given political outline map of India, locate and label any five of the following places : (1x5)
(1) Delhi (2) Calicut

(3) Nagpur (4) Champaran

(5) Kheda (6) Amritsar

On the given political outline map of India, locate and label a ny five of the following places/states with the
help of information provided below : (1x5)
(1) Steel Industry in Chhattisgarh (2) TISCO in Jharkhand

(3) Largest Jute producing state (4) Most populated state

(5) Least populated state (6) Largest Tea producing state

B33 TR



DELHI PUBLIC SCHOOL, BHILAI

Date : 14.02.2024 ANNUAL EXAMINATION 2023-24 Time : 1% Hrs.
Class : VIl Subject : Information anc:lg%nmumcat:cn Technology Max. Marks : 50

General Instructions :

Il

II1.

Iv.

YL

Question paper has 6 questions, all are compulsory.
Question I contains 10 questions of 1 mark each.
Question II contains 5 questions of 1 mark each.
Question III contains S questions of 1 mark each.
Question IV contains 4 questions of 2 marks each.
Question V contains 4 questions of 3 marks each.
Question VI contains 2 questions of 5 marks each.
Answer questions sequentially.

00 3 Gh LA o Ll B

Multiple Choice Questions : (1x10=10)

(Write the correct option with the option number)
(1) Which of the following attributes is not used with the <IMG> tag?

(a) SRC (b) FRAME (c) HEIGHT (d) BORDER
(2) The technique of watching the person while talking to him is called .

(a) Vide conferencing (b) Email (c) Both (a) and (b) (d) E-banking
(3) Which of the following is not found in Google Apps?

(a) Slides (b) Face book (¢) You Tube (d) None
(4) Which of the following is/are Subsets of A.L?

(a) Machine Learning (b) Deep Learning (c) Only (a) (d) Both (a) and (b)
(5) App are software developed for .

(a) Hand held devices (b) Desktop (¢c) Browser (d) None
(6) Which of these attributes are used in Internal Linking?

(a) NAME (b) HREF (c) Both (a) and (b) (d) None
(7) Which of the following is not considered as an entertainment app?

(a) Talking Tom (b) PUBG (¢) Adobe Flash Player (d) Candy Crush
(8) The concept of Al was first propounded in —

(a) 1980 (b) 1966 (c) 1956 (d) 1950

(9) What is the use of set permissions option in the Google Sheets?
(a) Withdraw Protection (b) Protect Sheets  (c) Delete Sheets (d) All of these
(10) Which one of these is used to store and manage data on remote server in place of their local

computer?
(a) Blog (b) Data Diddling (¢) Email (d) Cloud Storage
State True/False (1x5=5)

(1) Apps were developed for desktops only.

(2) Industrial robots are programmed using computer.

(3) Avoid using pirated copies of software.

(4) PNG image file format stands for portable ink Group.
(5) Google Docs is a free online word processing program.

Fill in the Blanks (1x5=5)

(Write the complete sentence and fill up the answer)

(1) is a core subject area of Al

(2) is the process of encoding a message or file so that it can only be accessed by
authorised people.

(3) refers to process of stealing credit card numbers online.

(4) The <FRAME> tag is used under the tag.

(5) is an operating system for mobile devices developed by google.

Short Answer Questions: (2x4=8)

(1) Define Google Drive.
(2) What is AI?
(3) What do you understand by term App?
(4) What is Phreaking?
Long Answer Questions: (3x4=12)
(1) Discuss different types of communication techniques?
(2) Explain purpose of following attributes in HTML?
(a) Scrollamount (b) HREF (c) ALT
(3) How robotics gained a vital place in environmental sectors?
(4) Define two categories of mobile apps. Give 2 examples of each.
(5x2=10)
(1) Mention few features of You Tube.
(2) Describe all the attributes of <FRAME> tag.
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DELHI PUBLIC SCHOOL, BHILAI
Date : 12.02.2024 ANNUAL EXAMINATION 2023-24 Time : 50 Minutes

Class : VIl Subject : General Knowledge Max. Marks : 50
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Invigilator’s Signature Marks obtained : /50
General Instructions: @ G- K.
e All the questions are compulsory. ey -
e There are 50 questions of 1 mark each. Sand.

01.

02.

03.

Answer the following questions:

Hired e 1x10=10)
(a) Name the extremely rare, wild ox from Asia

L 3

(b) Name the cat-like mammal which is native of Africa and Asia

b

(¢) Name the most astonishing submarine sinkhole

(d) Name the cotton castle or white castle located in Turkey

(e) Name the last Mughal Emperor

(f) Name the lady who led the revolt at Lucknow

(g) Who wrote the book ‘The Birds of America’

(h) Who is the author of the book ‘On Fruit Trees’

(i) What is the name of the famous statue of Christ located in Rio-de-Janeiro

(j) Name the world’s longest human made structure

Answer the following questions: (1x10=10)
(a) Name the famous rock-cut architecture in Jordan

(b) Name the profession deals with legal matters

(c) Name the profession deals with reporting, writing, editing

(d) Name the British Physicist who was author of the book ‘A brief History of Time’

(e) Name world’s deepest underground laboratory

(f) Name world’s highest terrestrial laboratory

(g) Who invented phonograph

(h) Name the American president who can write Greek with one hand and Latin with other hand

(1) Name the branch of science which deals with designs, makes and operation of robots

(j) Name the branch of science deals with exploration of pollution free energy from wind, biogas and the sun

Name the inventors of the following inventions : (1x5=5)
(a) Stethoscope

(b) Vaccination

(c) Penicillin

(d) Electro cardiograph

(e) Aspirin
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04.

05.

06.

07.

Match the following : (1x5=5)
Correct Answer
A B
(a) Tango (1) American Dance Style
(b) Opera House (Sydney) (ii) Dance Style of Argentiana
(¢) Tap Dance (iii) Jorn Utzon
(d) Lotus Temple (Delhi)  (iv) James Hoban
(e) White House (v) Fariborz Sabha L
Fill in the blanks : (1x10=10)
(a) is a small lake in the southern Ural Mountains in Western Russia.
(b) is a fresh water lake with volcano at the bottom.
(c) is a defensive sport teaches discipline developed in Korea.
(d) is originated in Punjab region of India and is a Sikh martial art.
(e) is a drug was sold to cure tension, sleeplessness and abdominal pain.
® invented artificial heart.
(2) is the branch of science will enable the parents to determine intelligence hair
and eye colour of their child.
(h) is the dance first emerged in Bronx and developed in New York City.
(1) is the Prime Minister of United Kingdom and was regarded as the greatest leader of
20" Century.
) was an American President, paralysed from waist down, led America through
two of the worst periods.
Fill in the blanks : (1x5=5)
(a) is blind nearly from birth, is well-known American singer.
(b) is authored by Claudius Ptolemy is among the most famous books on Geography.
(©) is a compilation of Shakespeare’s works by his colleagues John Hemings and
Henry Condell.
(d was a Sepoy in the 34™ Bengal Native Infantry regiment of East India Copmpany
and was sentenced to death in 1857.
(e) is known as ‘Eye of the Sahara’.
Current Affairs : (1x5=5)

(a) Where is Madhya Pradesh high court situated?

(b) Who is the new Chief Minister of Chhattisgarh?

(¢) Who is the new Chief Minister of Rajasthan?

(d) Which is largest capacity cricket ground of India?

(e) Who is the new Chief Minister of Madhya Pradesh?
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